
PTM-R1/2 
Top Plate shown

Installation Instructions 
Tapered Radar Mast  - PTM-R1/R2 & PTM-R1/R2-S40

®

8mm Flat Head

13mm x 1
10mm x 2

 ø10mm

Hole Saw
Ø Dependant on cables

Tools Required

10DPT-SRM3-1     x1

10DPT-SRM3-2     x1

60085 
M8 S/S washer  x4

60080
M8 Nylock  x4

610825
M8x25 CSK

  x4

60621
M6x20  x6

60060
M6 Nylock  x6

60068
M6 Nutcover  x6

60065
M6 S/S Washer  x12

101804
IP Sealing Grommet  x 3

101817
IP Sealing Grommet  x 2

64004
M8 shoulder washer  

x4
19008

Base Seal  x1

17-04-20 Issue 4

60068  x3

60060  x3 60065  x6

60021  x3

101817  x2

101804  x 3

610825  x4

60085 x4

60080  x4

19008  x1

64004  x4

PTM-R1/2-S40 
Top Plate

60065
M6 S/S Washer  x 12

610625
M6x25 CSK x6

60065  x6
60702  x6

60060  x6
60068  x6

610625

10039 FLIR M100/200 riser kit only

620620 
M6x25 SKT  x6

60702
M6 Nylon Washer  x 12

FLIR M100/200 Fastners

60060
M6 Nyloc Nut  x12

60068
M6 Nut cover  x12

10039
M100/200 Top Plate for PTM



重要
誤った取り付けによる損傷については責任を負いかねます。
取り付けと組み立ては、損傷や部品の緩みの形跡がないか定期的に検査する必要があります。
製品は、通常のボート条件下で承認された船舶用電子機器を取り付けるために特別に設計されています.

IMPORTANT

Scanstrut déclinent toute responsabilité pour les dégats résultant d’une installation incorrecte.
L’installation et l’assemblage doivent être inspectés régulièrement a�n de déceler  des dégats ou des pièces désserrées
Ce produit a été spéci�quement conçu pour le montage d’appareils d’électronique marine approuvés dans des conditions de navigation normales.

WICHTIG

Für Schäden aufgrund unsachgemäßen Einbaus wird keine Haftung übernommen.
Der Anbau und die Baueinheit müssen regelmäßig auf Anzeichen von Schäden oder lockere Teile geprüft werden. 
Dieses Produkt wurde spezi�sch für die Befestigung genehmigter Elektronikgeräte für die Schi�fahrt unter normalen Bootsfahrtsbedingungen entwickelt. 

IMPORTANTE

Si declina qualsiasi responsabilità per danni causati da un’installazione erronea.
L’installazione e il montaggio devono essere ispezionati con regolarità per veri�care la presenza di danni o di pezzi allentati.
Questo prodotto è stato studiato appositamente per il supporto di apparecchiature elettroniche navali approvate in normali condizioni di navigazione.

IMPORTANTE

No se aceptará ninguna responsabilidad por los daños causados por una instalación incorrecta.
La instalación y ensamblaje deberá inspeccionarse regularmente, comprobando cualquier evidencia de daños o piezas a�ojadas.
Este producto ha sido especí�camente diseñado para el montaje de equipos electrónicos marinos aprobados bajo condiciones normales de navegación.

Scanstrut Ltd. 5 Darts Business Park, Clyst St. George, Exeter, Devon, UK EX30QH Tel: +44(0)1392531280 
E-mail: sales@scanstrut.com  Website: www.scanstrut.com

FLIR M100/200 Riser Kit ONLY

6x M6x25mm 
Socket Head

FLIR Supplied 
CAM Seal

6x M6 S/S 
Washer

6x M6 
Nyloc Nut

6x M6 Nylon-
Washer



Tapered Radar Mast - PTM-R1 /R2 
For help & information 

email: technical@scanstrut.com 

tel: +44 (0) 1803 863800 

806mm/3 l.7" 

60° 

GPS / VHF /Navtex 

attachment 

(l"x 14 TPI) 

f̀
a.
L
L
A
E
E
s
a
v
 

,̀
t,
S
L
/
W
E
S"
i'.
6
£

``
5.
L
l
A
U
E
9
v
v
 

``
L.
00
CA
ul
ul
6
N
L
 

``
z.
sl
u
E
腐

4 xM8 01 SOmm/S.7" 

゜

―,
6/
E
E
O
c
z
 `̀

S
L.
Z
A
U
E
O
L
 

―
S
i
l
/
E
E
1
6
l
 

゜

Base Footprint 
図のように120°の間隔で配

置された0Smm / 0.2 "

0122mm/4.8" 

0100mm/3.94" 

゜
079mm/3.l" 

230mm/9" 

291 mm/11.5" 

すべての大きな穴とスロット06.2mm / 

0.25 "は、図のように前後/船首、または
120°の間隔で配置されています。

゜ SCANSTRU,: INSTALLATION SOLUTIONS FOR MARINE ELECTRONICS'M 



®
 INSTALLATION SOLUTIONS FOR MARINE ELECTRONICS™

For help & information
email: technical@scanstrut.com

tel:  +44 (0) 1803 863800Tapered Radar & Satcom Mast - PTM-R1/R2-S40 

4 x M8

291mm/11.5”

29
1m

m
/1

1.
5”

23
0m

m
/9

” Base Footprint

72
9m

m
/2

8.
7”

806mm/31.7”

13
2m

m
/5

.2
”

230mm/9”

150mm (5.91”)

GPS / VHF/Navtex 
attachment

(I“ x 14 TPI)137.5mm 
   (5.91”)

39
2.

5m
m

/1
5.

4”

43
5m

m
/1

7.
12

”

44
6m

m
/1

7.
5”

60°

62
.8

5m
m

/2
.5

”

70
m

m
/2

.7
5”

Ø100mm/3.94”

Ø122mm/4.8”

Ø79mm/3.1”

すべての大きな穴とスロット
Ø6.2mm/ 0.25 "は、図のように前後/
船首、または120°の間隔で配置され
ています。

図のように120°の間隔で
配置されたØ5mm/ 0.2イン
チ。

Ø150mm/5.7”

Satcomマウントの固定位置

サーチライトプラットフォームの固定位置

34
8.8

6

348.86
229

22
9

135

13
5

14
1.5

0

100
134

77
.50

Ø 70




